6&Fs

$3900 SERIES MANAGED L2+ GIGABIT
SWITCHES

MANAGED-L2+-GIGABIT-SWITCH DER S3900-SERIE
SWITCHS MANAGEABLES L2+ GIGABIT DE LA SERIE $3900

S3900 ) =AY R—=J RL2+FHEY R XY F
Quick Start Guide

Quick-Start Anleitung

Guide de Démarrage Rapide

Gy IRE— AR
Digitally signed by Boaghe Dumitru
Date: 2024.02.27 11:46:59 EET
Reason: MoldSign Signature
Location: Moldova




Introduction

Thank you for choosing $S3900 Series Stackable Managed Switches. This guide is designed to familiarize

you with the layout of the switch and describes how to deploy the switch in your network.

$3900-24T4S-R

$3900-24F4S-R

$3900-48T65-R

Accessories

$3900-24T4S-R

Power Cord x 2 Console Cable x 1 Mounting Bracket x 2

OO -

Grounding Cable x 1 Rubber Pad x 4 M3 Screw x 6

EN



EN

$3900-24F4S-R/S3900-48T6S-R

Power Cord x 2

Console Cable x 1 Mounting Bracket x 2

OO -

Grounding Cable x 1 Rubber Pad x 4 M3 Screw x 8

=)

® =

M6 Screw x4 M6 Nut x4

@ NOTE: This power cord cannot be used with other devices, and other power cords should
not be used with this device.

NOTE: S3900 series switches have dust plugs delivered with them. Keep the dust plugs
properly and use them to protect idle optical ports.



Hardware Overview

Front Panel Ports

$3900-24T4S-R

6Fs

mﬁﬁ@ﬂﬁ

CONSOLE RJ45 SFP+

53900-24F4S-R

o EER DB e

CONSOLE COMBO SFP SFP+

$3900-48T6S-R

RJ45 SFP+ CONSOLE
s omain
RJ45 10/100/1000BASE-T ports for Ethernet connection
SFP SFP ports for 1G connection
SFP+ SFP+ ports for 1/10G connection
CONSOLE An RJ45 console port for serial management
COMBO One RJ45 port and one SFP slot, with one port active at a time

EN



EN

Front Panel LEDS

$3900-24T4S-R
SYS Li||1k/Act

G

_ 8

|
PWR

$3900-24F4S-R

SYS Lir|1k/Act

e

__|
=
PV\|/R

$3900-48T6S-R

RJ45

—PWR

PWR Green Switch is powered on.
Green System is working properly.
SYS Blinking Green System is started normally.
Off System is not working properly.
Green Data is being transmitted or received.
Link/Act
Off no signal transmission.

Blinking Green Data is being transmitted or received.
RJ45/SFP+

Off No device is connected to the corresponding port.



Back Panels

$3900-24T4S-R

Dual Powler Supplies

PowerISwitch

=)
=1
i
@
~e ©
i
s@_
=

Grounding Point

$3900-24F4S-R / $3900-48T65-R

Dual PowFr Supplies

PowerISwitch

1®f (€] 1®f

Grounding Point

Power switch ON means the power is switched on, while OFF means the power is cut off.

Installation Requirements

Only professionals are allowed to install or replace the switch.
Before you begin the installation, make sure that you have the following:

® Screwdriver

® Static-proof wristband

® Ethernet cable

® Other Ethernet terminal devices

e Control terminal

EN



EN

Site Environment:

e Do not operate it in an area that exceeds an ambient temperature of 50°C.

e Theinstallation site must be well ventilated. Ensure that there is adequate air flow around the
switch.

® Be sure that the switch is level and stable to avoid any hazardous conditions.
® Do not install the equipment in a dusty environment.
® The installation site must be free from leaking or dripping water, heavy dew, and humidity.

® Ensure rack and working platforms are well earthed.

Mounting the Switch

Desk Mounting

o %

1. Attach four rubber pads to the bottom.

2. Place the chassis on a desk.

NOTE: Do not put things weighing 4.5 kg or over 4.5 kg on the top of the switch.



Rack Mounting

1. Secure the mounting brackets to the two sides of the switch with M4 screws.

2. Attach the switch to the rack using M6 screws and cage nuts.

EN



EN

Grounding the Switch

1. Connect one end of the grounding cable to a proper earth ground, such as the rack in which the

switch is mounted.
2. Secure the grounding lug to the grounding point on the switch back panel with the washers and

screws.

CAUTION: The earth connection must not be removed unless all supply connections have
been disconnected.



Connecting the Power

1. Plug the AC power cord into the power port on the back of the switch.
2. Connect the other end of the power cord to an AC power source.

A WARNING: Do not install power cable while the power is on.

Connecting the RJ45 Ports

1. Connect an Ethernet cable to the RJ45 port of a computer, printer, network storage, or other
network devices.

2. Connect the other end of the Ethernet cable to the RJ45 port of the switch.

EN



EN

Connecting the SFP+

1. Plug the compatible SFP+/SFP transceiver into the SFP+ port.
2. Connect a fiber optic cable to the fiber transceiver. Then connect the other end of the cable to

another fiber device.

WARNING: Laser beams will cause eye damage. Do not look into bores of optical modules
or optical fibers without eye protection.



Connecting the Console Port

4 D

- /

1. Insert the RJ45 connector into the RJ45 console port on the front of the switch.

2. Connect the DB9 female connector of the console cable to RS-232 serial port on the computer.

Stacking the S3900 Series Switches

$3900-24T4S-R&S3900-24F4S-R support 8 units hybrid-stacking together. S3900-48T6S-R supports 6
units stacking between same models. Switches can be physically stacked using optical fiber cables
connected to SFP+ transceivers, or 10G Direct Attach Cables (DAC). All SFP+ ports on the switch can be

used for physical stacking.

SeSsisses/saestnn :

T D) |

6Fs

o= :

11

EN



EN

Configuring the Switch

Configuring the Switch Using the Web-based Interface

Step 1: Connect your computer to any Ethernet port of the switch using the network cable.

Step 2: Set the IP address of the computer to 192.168.1.x. (“x" is any number from 2 to 254.)

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

© Obtain an IP address automatically

—@® Use the fol g IP address:
1P address: 192.168 . 1 . 2

Subnet mask: 255 . 255 .255 . 0

QO Obtain DNS server address automatically

—@® Use the g DNS server

Preferred DNS server: l:l
Alternate DNS server: l:l

[ validate settings upon exit

Step 3: Open a browser, type http://192.168.1.1, and enter the default username and password.

Step 4: Click Login to display the web-based configuration page.



Configuring the Switch Using the Console Port

Step 1: Connect a computer to the switch's console port using the supplied console cable.
Step 2: Start the terminal simulation software such as HyperTerminal on the computer.
Step 3: Set the parameters of the HyperTerminal: 115200 bits per second, 8 data bits, no parity,

1 stop bit and no flow control.

Quick Connect X

Protocol: Serial v

The port may be manually entered or selected from the list.

Port: ‘ com3 v

RTS/CTS
[] XxON/xOFF

Name of pipe: ‘ ‘

Flow Control

D Show quick connect on startup D Save session

[Jopeninatab

Connect Cancel

Troubleshooting

1/10G Port is not Working

In the case of compatible cables and transceivers, the port cannot be up, please try to modify the

port mode to adapt or force the port speed to 1G/10G.

Connecting the Switch Remotely Unsuccessfully

1. Test network connectivity through ping.
2. If the network is reachable, try restarting the switch.

3. Check if the corresponding service is enabled.

13

EN



EN

The Port is not Working, the LED Indicator is Off

1. Ensure the switch ports are in the no shutdown state.

2. Check if the switch can read the DDM information.

3. Check if the port speed setting is correct.

4.Try looping the switch cable.

Support and Other Resources

® Download https://www.fs.com/download.html

® HelpCenter  https://www.fs.com/service/help_center.html

® ContactUs https://www.fs.com/contact_us.html

Product Warranty

FS ensures our customers that any damage or faulty items due to our workmanship, we will offer a
free return within 30 Days from the day you receive your goods. This excludes any custom made

items or tailored solutions.

Warranty: S3900 Series Switches enjoy 4 years limited warranty against defect
in materials or workmanship. For more details about warranty, please check at

https://www.fs.com/policies/warranty.html

Return: If you want to return item(s), information on how to return can be found at

https://www.fs.com/policies/day_return_policy.html



Einfihrung

Vielen Dank, dass Sie sich fiir die Stackable Managed Switches der S3900-Serie entschieden haben.

Diese Anleitung soll Sie mit dem Layout des Switches vertraut machen und beschreibt, wie Sie den

Switch in Ihrem Netzwerk einsetzen.

-

$3900-24T4S-R

$3900-24F4S-R

$3900-48T6S-R

Zubehor

$3900-24T4S-R

Netzkabel x 2

Erdungskabel x 1

Konsolenkabel x 1 Montagehalterung x 2

OO =
QO =

Gummipad x 4 M3 Schraube x 6

DE



$3900-24F4S-R/S3900-48T6S-R

DE

Netzkabel x 2 Konsolenkabel x 1 Montagehalterung x 2
Erdungskabel x 1 Gummipad x 4 M3-Schraube x 8

7

M6-Schraube x4 Mé6-Mutter x4

HINWEIS: Dieses Netzkabel kann nicht mit anderen Geraten verwendet werden, und
andere Netzkabel sollten nicht mit diesem Gerdt verwendet werden.

HINWEIS: Bei den Switches der S3900-Serie werden Staubschutzkappen mitgeliefert.
Bewahren Sie bitte die Staubschutzkappen ordnungsgemaR auf und verwenden Sie sie
zum Schutz ungenutzter optischer Ports.



Hardware-Ubersicht

Ports an der Vorderseite

$3900-24T4S-R

6Fs

-

CONSOLE RJ45 SFP+

$3900-24F4S-R

s SRR e,

CONSOLE COMBO SFP SFP+

$3900-48T6S-R

O T @T

RJ45 SFP+ CONSOLE
T
RJ45 10/100/1000BASE-T Ports fiir Ethernet-Anschluss
SFP SFP+-Ports fiir 1G-Anschluss
SFP+ SFP+-Ports fiir 1/10G-Anschluss
CONSOLE RJ45 Console-Port fiir die serielle Verwaltung
COMBO Ein RJ45-Port und ein SFP-Steckplatz, wobei jeweils ein Port aktiv ist

DE



DE

LEDs an der Vorderseite

S$3900-24T4S-R
SYS Lir|1k/Act

6Fs
‘ =, [TTT]
|
PWR
$3900-24F4S-R

SY|S Lir|1k/Act

oo .

E

PWR

$3900-48T6S-R

FS |
—PWR

PWR Grin Switch ist eingeschaltet.
Grin Das System funktioniert ordnungsgema@.

SYS Blinkend Griin Das System wird normal gestartet.
Aus Das System funktioniert nicht ordnungsgemag.
Grin Es werden Daten gesendet oder empfangen.

Link/Act
Aus Keine Signaltibertragung.
Blinkend Griin Es werden Daten Uibertragen oder empfangen.
RJ45/SFP+

Aus Es ist kein Gerat an den entsprechenden Port angeschlossen.

18



Riickseite

$3900-24T4S-R

Duale Stromversorgung
1

Netzschalter
|

=

$3900-24F4S-R / S3900-48T6S-R

|
Erdungspunkt

Duale Stromversorgung
1

Netzschalter
|

.

@

|
Erdungspunkt

Beschreibung

Power switch

Installationsvoraussetzungen

ON bedeutet, dass der Strom eingeschaltet ist, wahrend OFF bedeutet, dass der
Strom abgeschaltet ist.

Die Installation oder der Austausch des Switches darf nur von Fachleuten

vorgenommen werden.

Bevor Sie mit der Installation beginnen, vergewissern Sie sich, dass Sie

iiber die folgenden Utensilien verfiigen:

® Schraubenzieher

® Antistatik-Armband

® Ethernet-Kabel

® Andere Ethernet-Endgerate

® Steuerterminal

DE



DE

Standortumgebung:

Betreiben Sie das Gerét nicht in einem Bereich, in dem die Umgebungstemperatur 50°C
Ubersteigt.

Der Installationsort muss gut beliiftet sein. Stellen Sie sicher, dass um den Switch herum ein
ausreichender Luftstrom herrscht.

Achten Sie darauf, dass der Switch eben und stabil steht, um geféhrliche Bedingungen zu
vermeiden.

Installieren Sie das Gerat nicht in einer staubigen Umgebung.

Der Installationsort muss frei von austretendem oder tropfendem Wasser, starkem Tau und
Feuchtigkeit sein.

Stellen Sie sicher, dass Gestell und Arbeitsbiihnen gut geerdet sind.

Montage des Switches

Montage auf einem Tisch

o %

1. Bringen Sie vier Gummipads an der Unterseite an.

2. Stellen Sie das Gehéuse auf den Tisch.

@ HINWEIS: Stellen Sie keine Gegenstdnde mit einem Gewicht liber 4,5 kg auf die Oberseite

20

des Switches.



Rack-Montage

J

1. Befestigen Sie die Montagehalterungen mit M4-Schrauben an den beiden Seiten des Switches.

2. Befestigen Sie den Switch mit M6-Schrauben und Kéfigmuttern am Rack.

21

DE



DE

Erdung des Switches

1. SchlieBen Sie ein Ende des Erdungskabels an eine geeignete Erdung an, z. B. an das Rack, in dem

der Switch montiert ist.
2. Befestigen Sie die Erdungslasche mit den Unterlegscheiben und Schrauben am Erdungspunkt an

der Riickwand des Switches.

ACHTUNG: Der Erdungsanschluss darf erst dann entfernt werden, wenn alle
Versorgungsanschliisse abgezogen wurden.

22



Anschluss der Stromversorgung

1. Stecken Sie das Netzkabel in den Port auf der Riickseite des Switches.

2. SchlieBen Sie das andere Ende des Netzkabels an eine Netzstromquelle an.

A WARNUNG: SchlieBen Sie das Netzkabel nicht an, wenn das Gerat eingeschaltet ist.

Anschluss der RJ45-Ports

1. SchlieBen Sie ein Ethernet-Kabel an den RJ45 Port eines Computers, Druckers, Netzwerkspeichers
oder anderer Netzwerkgeréte an.

2. SchlieBen Sie das andere Ende des Ethernet-Kabels an den RJ45-Port des Switches an.

23

DE



DE

Anschluss der SFP+-Ports

[
[
[
[
[
[
[
[
[
[
(]
N

1. Stecken Sie den kompatiblen SFP+/SFP-Transceiver in den SFP+-Port.
2. SchlieBen Sie ein Glasfaserkabel an den Glasfasertransceiver an. Schlieen Sie dann das andere Ende

des Kabels an ein anderes Glasfasergerét an.

WARNUNG: Laserstrahlen kénnen zu Augenschaden fiihren. Schauen Sie nicht ohne
Augenschutz in die Bohrungen von optischen Modulen oder Glasfasern.

24



Anschluss des Console-Ports

e D

o /

1. Stecken Sie den RJ45-Stecker in den RJ45 Console-Port an der Vorderseite des Switches.

2. Verbinden Sie die DB9-Buchse des Console-Kabels mit dem seriellen RS-232 Port des Computers.

Stacking von Switches der S3900-Serie

$3900-24T4S-R&S3900-24F4S-R unterstiitzen das Hybrid-Stacking von 8 Einheiten untereinander.
$3900-48T6S-R unterstiitzt das Stacking von 6 Einheiten zwischen denselben Modellen. Die Switches
kdnnen mit Glasfaserkabeln, die an SFP+-Transceiver angeschlossen sind, oder mit 10G Direct Attach
Kabeln (DAC) physisch gestapelt werden. Alle SFP+-Ports des Switches konnen flr physisches Stacking

verwendet werden.

® ®
o °
® ®
o o

®
o °

®

25

DE



Konfiguration des Switches

Konfiguration des Switches iiber die webbasierte Schnittstelle

Schritt 1: SchlieBen Sie lhren Computer Uber das Netzwerkkabel an einen beliebigen Ethernet Port

des Switches an.

Schritt 2: Stellen Sie die IP-Adresse des Computers auf 192.168.1.x ein. ("x" ist eine beliebige Zahl
a zwischen 2 und 254.)

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings

Q Obtain an IP address automatically

—@® Use the following IP address:

IP address: 192 .168 . 1 . 2
Subnet mask: 255.255.255. 0

O Obtain DNS server address automatically

—@ Use the following DNS server addresses:

Preferred DNS server: l:l

Alternate DNS server:

[[validate settings upon exit
o)

Schritt 3: Offnen Sie einen Browser, geben Sie http://192.168.1.1 ein, und geben Sie den Standard
-Benutzernamen und das Passwort ein.

Schritt 4: Klicken Sie auf Anmelden, um die webbasierte Konfigurationsseite anzuzeigen.

26



Konfiguration des Switches liber den Console-Port

Schritt 1: SchlieBen Sie einen Computer tiber das mitgelieferte Konsolenkabel an den Console-Port
des Switches an.

Schritt 2: Starten Sie die Terminalsimulationssoftware, z. B. HyperTerminal, auf dem Computer.
Schritt 3: Stellen Sie die Parameter von HyperTerminal ein: 115200 Bits pro Sekunde, 8 Datenbits,
keine Paritat, 1 Stoppbit und keine Flow Control.

Quick Connect X

Protocol: Serial v

The port may be manually entered or selected from the list.

Port: [ coms o

Baud rate:
Data bits:
Parity:
Stop bits:

Name of pipe: ‘ ‘

Flow Control
[]DTR/DSR

[CIRTS/CTS
] XON/XOFF

D Show quick connect on startup D Save session

[Jopeninatab

Connect Cancel

Fehlerbehebung

1/10G-Port funktioniert nicht

Wenn der Port bei kompatiblen Kabeln und Transceivern nicht funktioniert, versuchen Sie bitte,
den Port-Modus zu éndern, um die Geschwindigkeit des Ports auf 1G/10G anzupassen oder zu

erzwingen.

Fehlgeschlagene Remote-Verbindung des Switches
1. Testen Sie die Netzwerkkonnektivitat durch Ping.
2. Wenn das Netzwerk erreichbar ist, versuchen Sie, den Switch neu zu starten.

3. Priifen Sie, ob der entsprechende Dienst aktiviert ist.

27

DE



DE

Der Port funktioniert nicht, die LED-Anzeige ist aus

1. Vergewissern Sie sich, dass die Ports des Switches nicht heruntergefahren sind.
2. Pruifen Sie, ob der Switch die DDM-Informationen lesen kann.
3. Priifen Sie, ob die Geschwindigkeitseinstellung des Ports korrekt ist.

4.Versuchen Sie, das Kabel des Switches in einer Schleife zu verlegen.

Support und andere Ressourcen

® Downloads https://www.fs.com/de/download.html

® Hilfecenter https://www.fs.com/de/service/fs_support.html
® Kontakt https://www.fs.com/de/contact_us.html

Produktgarantie

Wir garantieren unseren Kunden, dass wir bei Schaden oder fehlerhaften Artikeln, die auf unsere
Verarbeitung zuriickzufiihren sind, eine kostenlose Riickgabe innerhalb von 30 Tagen nach Erhalt der

Ware gewahren. Dies gilt nicht fiir Sonderanfertigungen oder ma3geschneiderte Losungen.

Garantie: Fur Switches der S3900-Serie gilt eine beschrankte Garantie von 4 Jahren auf
Material- und Verarbeitungsfehler. Weitere Einzelheiten zur Garantie finden Sie unter:

https://www.fs.com/de/policies/warranty.html

Riickgabe: Wenn Sie Artikel zurlicksenden mochten, finden Sie Informationen unter:

https://www.fs.com/de/policies/day_return_policy.html

28



Introduction

Merci d'avoir choisi le Switch Manageable Empilable de la Série $3900. Ce guide est cong¢u pour que

vous puissiez vous familiariser avec la configuration du switch et décrit comment procéder a son

déploiement.

$3900-24T4S-R

$3900-24F4S-R

$3900-48T65-R

Accessoires

$3900-24T4S-R

Cable d'Alimentation x 2 Céble de Console x 1 Support de Montage x 2

9@ -

Cable de Mise a Terre x 1 Coussins en Caoutchouc x 4 Vis M3 x 6

29

FR



$3900-24F4S-R/S3900-48T6S-R

FR

30

Cable d'Alimentation x 2 Cable de Console x 1 Support de Montage x 2
Céble de Mise & Terre x 1 Coussins en Caoutchouc x 4 Vis M3 x 8

T

Vis M6 x4 Ecrou M6 x4

NOTE : Ce cordon d'alimentation ne peut pas étre utilisé avec d'autres appareils, et les
autres cordons d'alimentation ne doivent pas étre utilisés avec cet appareil.

NOTE: Les switchs de la série S3900 sont livrés avec des capuchons anti-poussiére.
Veuillez conserver les capuchons anti-poussiére et les utiliser pour la protection des ports
optiques inactifs.



Apercu du Matériel

Ports du Panneau Frontal

$3900-24T4S-R

_®

6Fs

CONSOLE RJ45 SFP+

$3900-24F4S-R

CONSOLE COMBO SFP SFP+

$3900-48T6S-R

RJ45 SFP+ CONSOLE

Ports Description

RJ45 Ports 10/100/1000BASE-T pour une connexion Ethernet
SFP Ports SFP pour une connexion 1G
SFP+ Ports SFP+ pour une connexion 1/10G
CONSOLE Un port console RJ45 pour la gestion en série
COMBO Un port RJ45 et une rainure SFP, dont un seul port est actif a la fois

31

FR



FR

Indicateurs LED du Panneau Frontal

$3900-24T4S-R

SYS Li||1k/Act
PV\}R

$3900-24F4S-R

SYS Lir|1k/Act

e S e

__|
Bl
PV\|/R

$3900-48T6S-R

RJ45

Fs|
—PWR

PWR Vert Le switch est sous tension.
Vert Le systéme fonctionne correctement.
SYS Vert Clignotant Le systeme a démarré normalement.
Eteint Le systéme ne fonctionne pas correctement.
Vert Des données sont transmises ou regues.
Link/Act
Eteint Aucune transmission de signal.

Vert Clignotant Des données sont transmises ou recues.
RJ45/SFP+
Eteint Aucun dispositif n'est connecté au port correspondant.

32



Panneau Arriére

$3900-24T4S-R

Alimentations Doubles
|

Interrupteur de Mise sous Tension
1

©
=2

T
®

i B

$3900-24F4S-R / $3900-48T65-R

—|-@®

Point de Mise a Terre

Alimentations Doubles
|

Interrupteur de Mise sous Tension
1

(€] 1®f

|
Point de Mise a Terre

Interrupteur de mise sous tension

ON indique que le systeme est mis sous tension,
OFF indique que le systéme est arrété.

Exigences d'Installation

Seuls des professionnels sont autorisés a effectuer l'installation ou le
remplacement du switch. Avant de commencer l'installation, assurez

-vous que vous disposez des éléments suivants :

® Tournevis

® Bracelet anti-statique

® (Cable Ethernet

® Autres dispositifs Ethernet

e Terminal de contréle

33

FR



FR

Site de I'lnstallation :

® Ne pasinstaller I'appareil dans un endroit ou la température ambiante dépasse 50°C.

e Lesite d'installation doit étre bien ventilé. Assurez-vous que la circulation d'air autour du switch
soit suffisante.

® Assurez-vous que le switch est a niveau et stable pour éviter tout risque.
® Ne pas installer I'équipement dans un environnement poussiéreux.
® Lesite d'installation doit étre exempt de fuites d'eau et d'humidité.

® Assurez-vous que le rack et les plateformes de travail sont bien mis a terre.

Installation du Switch

Montage sur Support

o %

1. Fixez quatre coussins en caoutchouc a la base.

2. Placez le chassis sur le support.

NOTE: Ne pas placer d'objets pesant 4,5 kg ou plus sur le switch.

34



Montage sur Rack

1. Fixez les supports de montage aux deux cétés du switch avec des vis M4.

2. Fixez le switch au rack a I'aide de vis M6 et d'écrous a cage.

35

FR



FR

Mise a Terre du Switch

1. Connectez une extrémité du cable de mise a terre a une terre appropriée, telle que le rack sur lequel
le switch est monté.
2. Fixez la fiche de mise a terre au point de mise a terre sur le panneau arriére du switch a l'aide des

rondelles et des vis.

ATTENTION: La connexion de mise a terre ne doit pas étre retirée avant que toutes les
connexions d'alimentation n'aient été déconnectées.

36



Connexion de I'Alimentation

1. Branchez le cable d'alimentation CA dans le port d'alimentation situé a I'arriére du switch.

2. Connectez l'autre extrémité du cable d'alimentation a une source de courant alternatif.

C AVERTISSEMENT: Ne pas installer le cable d'alimentation lorsque I'appareil est mis sous
tension.

Connexion aux Ports RJ45

1. Connectez un cable Ethernet au port RJ45 d'un ordinateur, d'une imprimante, d'un stockage réseau
ou d'autres périphériques réseau.

2. Connectez l'autre extrémité du cable Ethernet au port RJ45 du switch.

37

FR



FR

Connexion du SFP+

1.Branchez le module SFP+/SFP compatible sur le port SFP+.
2.Connectez un cable de fibre optique au module optique. Puis connectez I'autre extrémité du cable a

un autre appareil a fibre.

AVERTISSEMENT: Les faisceaux laser peuvent causer des Iésions oculaires. Ne regardez pas
dans les alésages des modules ou des fibres optiques sans protection oculaire.

38



Connexion du Port Console

4 D

- /

1.Insérez le connecteur RJ45 dans le port de console RJ45 situé a I'avant du switch.

2. Connectez le connecteur femelle DB9 du cable de la console au port série RS-232 de I'ordinateur.

Empilage des Switchs de la Série S3900

Les modéles S3900-24T4S-R et S3900-24F4S-R prennent en charge I'empilement hybride de 8 unités.
Le S3900-48T6S-R prend en charge I'empilage de 6 unités entre modeéles identiques. Les switchs
peuvent étre empilés physiquement a l'aide de cables en fibre optique connectés a des modules SFP+,
ou des Cables a Attache Directe (DAC) 10G. Tous les ports SFP+ du switch peuvent étre utilisés pour
I'empilage physique.

T

® ° ®

o

39

FR



FR

Configuration du Switch

Configuration du Switch a I'Aide de I'Interface Web

Etape 1: Connectez votre ordinateur a n'importe quel port Ethernet du switch a l'aide du cable réseau.
Etape 2 : Définissez I'adresse IP de I'ordinateur sur 192.168.1.x. ("x" est un nombre quelconque compris
entre 2 et 254).

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

O Obtain an IP address automatically
—@® Use the g IP address:

IP address: 192 .168 . 1 . 2
Subnet mask: 255.255.255. 0

(Q Obtain DNS server address automatically

—@® Use the foll g DNS server

Preferred DNS server:

Alternate DNS server:

]
]

[ validate settings upon exit
o)

Etape 3 : Ouvrez un navigateur, tapez http://192.168.1.1, et entrez le nom d'utilisateur et le mot de
passe par défaut, admin/admin

Etape 4 : Cliquez sur connexion pour afficher la page de configuration basée sur le Web.

40



Configuration du Switch a I'Aide du Port Console

Etape 1: Connectez un ordinateur au port de console du switch a I'aide du cable de console fourni.

Etape 2 : Démarrez le logiciel HyperTerminal sur l'ordinateur.

Etape 3 : Réglez les paramétres de |'HyperTerminal : 115200 bits par seconde, 8 bits de données, pas

de parité, 1 bit d'arrét et pas de contréle de flux.

Quick Connect X

Protocol: Serial v

The port may be manually entered or selected from the list.

Port: ‘ com3

Baud rate:
Data bits:
Parity:
Stop bits:

Flow Control
[] DTR/DSR
[CIRTs/CTS
[] XxOoN/xOFF

Name of pipe: ‘

[Jshow quick connect on startup

D Save session

[Jopeninatab

Connect Cancel

Dépannage

Le Port 1/10G ne Fonctionne pas

Si le port ne fonctionne pas avec des cébles et des modules compatibles, essayez de modifier le

mode du port pour l'adapter ou de forcer la vitesse du port a 1G/10G.

Connexion a Distance du Switch sans Succés

1. Testez la connectivité du réseau par ping.

2.Sile réseau est accessible, essayez de redémarrer le switch.

3. Vérifiez si le service correspondant est activé.

a1

FR



FR

Le Port est hors Service, I'Indicateur LED est Eteint.

"

1. Assurez-vous que les ports du switch sont en état de “no shutdown”.
2. Vérifiez si le switch est capable de saisir les informations du DDM.
3. Vérifiez si les paramétres de vitesse du port sont corrects

4. Essayez de boucler le cable du switch.

Support et Autres Informations

® Télécharger https://www.fs.com/fr/download.html
® Centre d'Assistance https://www.fs.com/fr/service/help_center.html
® Contactez-Nous https://www.fs.com/fr/contact_us.html

Garantie des Produits

FS garantit a ses clients que tout dommage ou article défectueux d(i a sa fabrication peut étre
retourné dans un délai de 30 jours a compter de la date de réception de la marchandise. Cela exclut

tout article fabriqué sur mesure ou toute solution personnalisée.

Garantie : Les Switchs de la Série S3900 bénéficient d'une garantie limitée de 4 ans contre
les défauts matériel ou de fabrication. Pour plus de détails sur la garantie, veuillez

https://www.fs.com/fr/policies/warranty.html

Retour : Si vous souhaitez retourner un ou plusieurs articles, vous trouverez des

informations sur les modalités de retour a I'adresse suivante

https://www.fs.com/fr/policies/day_return_policy.html

42



1> a8o>a3>

CDEIR S39002 ) —X XA Y DTNIRX—I Ry FEIRAVLRE. BICHDHES
CEVET, COHTMRR RAYFOLATTMMIEN. BERORY FT—TJICZX1vF
ZEATBHEZHBTBODHDTY,

G

A

S$3900-24T4S-R

S$3900-24F4S-R

$3900-48T6S-R

Tt —

S$3900-24T4S-R

BRI—-Fx2 >V —=ILr—7)bx1 ROVRTZTy bx2

OO -

Eihr— 7L x1 SN—/Sv R x4 M3 x6

43

JP



JP

S3900-24F4S-R/S3900-48T6S-R

BREI—RFx2 aAvy—=IILr—7I)Lx1 ROVETSry bk x2
@) =
OO
B —7 L x1 SN=/Xv R x4 M3 x8

R—=
==
@ (.

M6 x4 M6F v b x4

@ A COEEI— RIZMOEBICIIFERTE XA, Foo MOBREI—RIEZD
HERICEALAVTLES L,

@ F:39002 ) —XRA Y FICIE. AR NTSIDNEBMEhTVWE Y. 4R ETFST1E
BENCREL. 7ARILE T T DR b= RETEIDHICEAL TSI,

a4



N—Ro T 7HE
70y ARILE—

$3900-24T4S-R

6Fs

=

CONSOLE RJ45 SFP+

S$3900-24F4S-R

CONSOLE COMBO SFP SFP+

6Fs

$3900-48T6S-R

I
RJ45 SFP+ CONSOLE

A— b s5t6A
RJ45 A —H % MEFA10/100/1000BASE-TR— k
SFP 1GHEETASFPAR— b
SFP+ 1/10GHEHTASFP+R—

CONSOLE S TFIVEERBRIASIYY —ILR—k

RJA5R— kX1, SFPXOw kX1, BEICIR— DT TF 1 I

COMBO
BOET,

45

JP



JP

7O N

$3900-24T4S-

2 JLLED

R
SYS Li:’]k/Act

‘

YA ava s sear  ivae wvannve svee ovaseressess vas 6Fs

Ehi

$3900-24F4S-

|
PWR

R

SYS Lir|1k/Act

6Fs

e S e

__|
=
!

PWR

$3900-48T6S-R

1 PWR

SYS

Link/Act

RJ45/SFP+

46

BTN B

e 21y FICEBRNADET,

o) S RTLISEBRETT,

FREBRR SRTLIBERICEFHLFT,

F7 SRTLAERICEHELTVEEA.
e T—RDEZEMTONTVET,
77 EEDREZITVEE A

FRE SR T—ADEZEMTONTUWET,

7

8

ZE T BR— MIESENERENTULEEA,



Ny I IX=x)L

$3900-24T4S-R

?JTIJL%‘F
QJEZI{ /7‘
[ ]
B a- " <l B
|
E s
S3900-24F4S-R / S3900-48T6S-R
'T"JJT’I)L'%‘}E
BERA v F
[ ]
I @f 1@/ \@f I
@ b , ~DE
|
Ehs

TERA v F

12X —ILEH

21y FOMD I PRBIIEFIRDADITIET,
AVRA—ILZRRTBEIC. ATOTCZREL TS,

RS /5—
BESBILAYZ PV R
1—Hxy br—T )

ZOHA — %y MERT /TR

dybO=—LE—3FI)

ONIFERDA oo RRE. OFFIFERMINIREEZRLF T,

a7

JP



JP

o B

o RFAREEBEMNS50°CZBRBIHGATIFERLEVTIRE L,

o REBZFIITRICHRIIBBENHBDET. XM YFOARICTHRRBREIDRND HS
CEBERL TS,

o fERIWRREETBIDIC. AAYFHKETEELTWVWB L ZEERL T T,
o FIDDZFVRRICAAYFZRELBUVWTLRTL,

o RBEISAIZ. KRN, KB, FHE. EKORVSAICREBEL TIEE L,
SYICERETSY b T4 —LHHDICT —RAETNTVWB 2R L T RE L,

A1y FOEDFIF
FRIIYY R

o %

LEIC4DD DLy RERDFIFE T,
2. v —ENDOLEICEEEY,

S RA U FDLICA5 kg1 i34.5kgEBR B3 HOEBI BN T LT,

48



AN 4V

1L 21y FORAICERONGITIST Y beM4RTTEEL £ T,

2M6RZ e —UFy b EFRALT. A1y FEI v IICRDHITEY,

49

JP



JP

A1y F O

LT —TIO—FDiFE. X1y FHBMDMIFSNTVNSE S v IR DB R T —RICHE
BLES

27w ERPT RAYFNYINRIOBMSICEMS I ZEELEF Y,

A AR T RERIE. TN TOBREGABIRINTUORVED, BDASTHRNTL

T

50



BRICERTS

LACERI—FZXAM Yy FEEAOEBRR— MIZELAZET,
2.BRI-RFOBHS—AHDHEACERICERLET,

A S BEEANLEE. BES—TUERDHFARVT EE N,

RJ45R— MMIHEHRT B

1LdAYEa—8%— FUYE— XYy rT—IRbL—=JRBEDRY b7 —UHBBORIASR
—MA—TRY M= EERLE T,

2.A=HRYy bT—=TLDHS—FHDM%ZE. XAy FORI4SHE— MIEFLET,

51

JP



JP

SFP+R— M 5

1. B D& 3 SFP+/SFPES 2 — )L ESFP+R— MIZLRAH X T,
QKT FANT—=TNETFANED 2a—ILICERELET, RIS, ¥—TILDOHS5—ADix%
BDHNT 74 NTFNA REHELET,

EE LY ARIBICEEZE5X Y, BZRELTICHET 2—ILPKT 7
ANDREREREBVESICLTLREL,

52



aAYY—=ILR—CEST S

4 D

- /

1.RJASOARU 2% XA v FRIEADRIAS AV Y —)LR— MIEALEF Y,
2.AYY—=IT =TI ODBIAXR AT R AV E 2 —RDRS-232 ) TILR— ML
F9,

S3900 ) —XZAA Y FDRAR Yy F Y

S3900-24T4S-R¥ S3900-24F4S-RiE. 8BDNT Ty RXZyF U F%HR—bLET,
S3900-48T6S-RiF. F—ETFIET6EDRRZ Yy F T R—rLET, A1 v Fik. SFP+
EVa—-ILESEINEH T 7N T =TI, F£HIF10GH ALY S 7R v F4—TJL(DAC)
EEAL TYENICREZ Y I TEET, AMvFDITRTDSFPHR— ME. MBI Z v F>
JICERATEEY,

PP R TR P VO FORTTOR Ty &Fs ®

e )

e e i

o) |

53

JP



JP

A1y FDERTE
WebR—ZXDA A=A A% FEALIX1 v FDHERE

27y TRy hD—=07—=TNUEFERALT. AYE2—REIAAYFOA—HRY b R—
MIERLET,

27y F2 AVEa—EDIP7 KL 2%192.168. LXICREL 9. ( X1 132~254DFEED
HF)

Internet Protocol Version 4 (TCP/IPv4) Properties

General

You can get IP settings assigned automatically if your network
supports this capability. Otherwise, you need to ask your network
administrator for the appropriate IP settings.

(© Obtain an IP address automatically

—@ Use the g IP address:
1P address:
supnet mask (525 2 o0 |
Default gateway: C ]

© Obtain DNS server address automatically

—@® Use the fol g DNS server
Preferred DNS server:

Alternate DNS server: l:l

[ validate settings upon exit
)

27y 3 TSUHEEE. Thttp://192.168.1.11 EAAL. T7FILbOI—H—HL/NX
T—RZABDLET,

27w 74 TLogint 0 Jwo L. WebR—ZXDFEBEEmERTLET,

54



AVY=IR—bZFE>TRAL Y FDHRE

27w 7L AV ==L EFERLT. XY IYEIALyFOIAVY —)LR— MMIES
LFET,

27w 721 )NV A2 THyperTerminal B X DR T al—> 3>V 7 b ZESHLET,

27w 73 HyperTerminald /NS X—2ZUTO L SICHREL £9, 1152008 ~/F. 87
—REw k. NXUF1%AL(None). 1X by Ew k. O—3>rO=)L%A L,

Quick Connect X

Protocol: Serial v

The port may be manually entered or selected from the list.

Port: [ coms o

Baud rate: 115200 ~
] XON/XOFF

Name of pipe: ‘ ‘

Flow Control

D Show quick connect on startup D Save session

[]openinatab

Connect Cancel

(AP | 7 Rl ol 274

1/10GR—FHHEEEL TV EEA

BE#RMEOHZT— TP ES 2—ILOBA. K—rA 7y I TERVDT, K—hE—R%E
BETBESICEETEH. K— FXEP— RE1G/10GICREIMICEEL THTL T,
21y FD) E— MEGEHS £ VDRV

1.pingTHy bT—J0EFMZTANLET,

2.2y bU—JICEHETEZH8R. A1 v FOBEESHEHHL LTV,
3HIET BT —ERDEMA>TVEINESHEREELET,

55

JP



JP

R—rHEELERV, LEDA I 7r—2—DNEITLTVWS

LAAYFR—EDO vy bRV LBVWRETH B e 2HEELE T,
2. 21w FH'DDMBERZ HARN B DR L £ 9
3R—FRE—FOREHNELVWNESHEEERLE T,

4 RAYFT—TINEIIL—TEETHTLIEE L,

YR—bCZDOMDI Y —2X

e AUvO—K https://www.fs.com/jp/products_support.html
o AN)ILTEVER— https://www.fs.com/jp/service/fs_support.html
o BREIVWEDE https://www.fs.com/jp/contact_us.html

=W (=5
K fRaE

FSIE. HHDEENDICLZEEPRRRICOVWT. EEHENEREZITR-7-AH5 30 H
LARICER TERTEE T, CNICIE. DRAZLT7ATLRT—5—RY)a—>avidg
FhErt Ao

ERMLUF T RADFMICOVTIE RO T M TIRESRE L
https://www.fs.com/jp/policies/warranty.html

REE:S3900 ) — X R A wF & iH £ 738 E DR MEICH L CAERIDBREREE

BRORMERLEINDISZEIF U TOYA N TREAEE CHEERIZE L
https://www.fs.com/jp/policies/day_return_policy.html

56



Compliance Information

FCC

Note: This equipment has been tested and found to comply with the limits for a Class B digital device,
pursuant to part 15 of the FCC Rules. These limits are designed to provide reasonable protection
against harmful interference in a residential installation. This equipment generates, uses and can
radiate radio frequency energy and, if not installed and used in accordance with the instructions, may
cause harmful interference to radio communications. However, there is no guarantee that interfer-
ence will not occur in a particular installation. If this equipment does cause harmful interference to
radio or television reception, which can be determined by turning the equipment off and on, the user

is encouraged to try to correct the interference by one or more of the following measures:

—Reorient or relocate the receiving antenna.

—Increase the separation between the equipment and receiver.

—Connect the equipment into an outlet on a circuit different from that to which the receiver is
connected.

—Consult the dealer or an experienced radio/TV technician for help.

This device complies with part 15 of the FCC Rules. Operation is subject to the following two
conditions:

(1) This device may not cause harmful interference, and

(2) this device must accept any interference received, including interference that may cause

undesired operation.

57



58

CE

FS.COM GmbH hereby declares that this device is in compliance with the Directive 2014/30/EU,
2014/35/EU, 2011/65/EU and (EU)2015/863. A copy of the EU Declaration of Conformity is
available at

www.fs.com/company/quality_control.html

Die FS.COM GmbH erklart hiermit, dass dieses Gerat mit der Richtlinie 2014/30/EU, 2014/35/EU,
2011/65/EU and (EU)2015/863 konform ist. Eine Kopie der EU-Konformitatserklarung finden Sie
unter

www.fs.com/de/company/quality_control.html

FS.COM GmbH déclare par la présente que ce dispositif est conforme a la Directive 2014/30/EU,
2014/35/EU, 2011/65/EU et (EU)2015/863. Une copie de la Déclaration de Conformité de I'UE est
disponible a I'adresse suivante

https://www.fs.com/fr/company/quality_control.html

FS.COM GmbH
NOVA Gewerbepark Building 7, Am Gfild 7, 85375 Neufahrn bei Munich, Germany

Q.C.PASSED

Copyright © 2023 FS.COM All Rights Reserved.



		2024-02-27T11:46:59+0200
	Moldova
	MoldSign Signature




